
http:// www.smartant.com    TEL: +886 (0)3 578-3188    FAX: +886 (0)3 578-3189   E-mail: service@smartant.com     
All rights reserved by SmartAnt Telecom Co., Ltd. P2

Panel Directional Antenna
for 2.4 GHz  

ZyAIR EXT-118 Mounting Configuration

Version 1

6

4

5

3 1 2

9 8 7

3 1 2

9 8 7

4

6

5

1. Mounting base                     1pcs
2. M4 x 8 screw+W+S/W         4pcs
3. Space Keeper                      4pcs
4. M-shape mounting               1pcs
5. 3/4" screw                            4pcs
6. Plastic wallplug                    4pcs
7. M6 x 16 srew                       4pcs
8. M6 S/W                                4pcs
9. M6 W                                   4pcs

1. Mounting base                      1pcs
2. M4 x 8 screw+W+S/W          4pcs
3. Space keeper                       4pcs
4. M-shape mounting                1pcs
5. Pole mount clip                     1pcs
6. M6 x 60 screw                      2pcs
7. M6 x 16 screw                      4pcs
8. M6 S/W                                4pcs
9. M6 W                                    4pcs


